CUSTOM TOW BAR BASE PLATE,
SELECT FORD FOCUS #70113

Parts List
Parts List
Iltem Qty Description
1 1 Tow bar base plate
2 2  Tow bar mounting tab
3 2 Safety cable, 7,500 Ibs.
4 10  Square hole spacer,

1/4" x 1" x 2"
5 10  Flange nut, 3/8"-16, grade 8

6 10  Carriage bolt,
3/8"-16 x 1-1/4", grade 8

2 Hexbolt, 1/4"-20 x 1", grade 8
1 Flat washer, 1/4"

2 Nylock nut, 1/4"-20, grade 8

2

2

Quick link, 1/2"
Socket plug

Included \/

fishwire






